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58| 82| No. Answer ALL Questions.
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CO1 | K1 1 is a linear programming problem.
a) allocation b) assignment c) transportation d) all the above
CO1 | K2 2 If two constraints do not intersect in the positive quadrant of the
graph, then .
a) one of the constraint is redundant b) the solution is infeasible
c) the solution is unbounded d) none of these
CO2 | K1 3. | The Simplex Method is used to solve:
a) Linear programming problems
b) Non-linear programming problems
c) Integer programming problems
d) Dynamic programming problems
CO2 | K2 4. | The Big M Method assigns a very large positive number (M) to which
type of variable in the objective function?
a) Slack Variable b) Artificial Variable
c) Surplus Variable d) Decision Variable
CO3 | K1 5. | The transportation problem deals with:
a) Minimizing cost of transporting goods
b) Maximizing profits in business
c) Allocating resources dynamically
d) Optimizing warehouse
CO3 | K2 6. | The method used for solving an assignment problem is called
a) MODI method b) reduced matrix method
c) Hungarian method d) vogel’s approximation
CO4 | K1 7. | Games which involve more than two players are called
a) biased games b) negotiable games
c) conflicting games d) n-person games
CO4 | K2 8. | A strategy that minimizes the maximum possible loss is called:
a) Maximin Strategy b) Minimax Strategy
c) Mixed Strategy d) Nash Equilibrium
CO5 | K1 9. | In critical path CPM is

a) event oriented
c) deterministic in nature

b) probabilistic in nature

d) dynamic in nature
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COS5 | K2 10. | In a project network, an activity is represented by:
a) A square b) A circle c) An arrow d) A triangle
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'a" S 8 = | No. Answer ALL Questions choosing either (a) or (b)
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CO1 | K3 | 11a. | Write the algorithm of Graphical method.
(OR)
CO1 | K3 | 11b. | Write the following LPP in standard form:maxz = 8x; — 4x,
subject to 4x; + 5x,<20,2x; — 3x, < 23,x; = 0, x, unrestricted.
CO2 | K3 | 12a. | Write the algorithm of Big-M method.
(OR)
CO2 | K3 | 12b. | Solve minimize z = 60x; + 80x, subject to 20x; + 30x, = 900,40x; + 30x, >
1200, x4, x, = 0.
CO3 | K4 | 13a. | Write the algorithm of Hungarian method.
(OR)
CO3 | K4 | 13b. | Using Northwest corner method. Find the basic feasible to the following
transportation problem.
W, Wo Ws aj
Fi 8 10 12 900
Fa 12 13 12 1000
F3 14 10 11 1200
b; 1200 1000 900
CO4 | K4 | 14a. | Two players A and B match coins. If the coins match, then A wins two
units of value, if the coins do not match, then B wins 2 units of value.
Determine the optimum strategies for the players and the value of the
game. (OR)
CO4 | K4 | 14b. | Elucidate on Min-Max principle.
COS5 | K5 | 15a. | Explain the concept of Networks.
(OR)
CO5 | K5 | 15b. | Draw a network for the following project:
Activity | Immediate Predecessor
1-2 -
1-3 -
2-3 1-2
2-4 1-2
3-4 1-3, 2-3
4-5 2-4, 3-4
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g S 8 -1,1’ No. Answer ALL Questions choosing either (a) or (b)
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CO1 | K3 | 16a. | Solve the following LPP using graphical method.

Maximize

Subject to 16x;+12x, <100

Z= 25x,+20x,

8x,+ 16x, < 80

X1, X2

>0

(OR)
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K3

16b.

Solve the following LPP using graphical method
Maximize Z= 6x;+15x,
Subject to 5x;+3x, <15
2x,1+5%x, < 10
X1 ,Xp =0

CO2

K4

17a.

CO2

K4

17b.

Use simplex method to solve the following LPP
Maximize Z= 4x,;+10x,
Subject to Constraints 2x;+x, < 50
2x,+5x, < 100
2x:+ 3x, <90
X1 ,Xp > 0
(OR)
Use Two-Phase simplex method to solve the following LPP
Maximize Z= 2x;+ X,+X3
Subject to Constraints 4x;+6x, + 3x3 <8
3x,-6x%, —4x3 <1
2x,+3%x, —5x3 = 4
X1 ,Xp, X3 =0

CO3

K4

18a.

Apply Vogel’s approximation method to obtain an initial basic feasible
solution to the following transportation problem:

D

E

F

G

Availability

A

11

13

17

14

250

B

16

18

14

10

300

C

21

24

13

10

400

Requirement

200

225

275

250
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18b.

(OR)
Find the optimum assignment and minimum total time from the
following information.

E

F

G

H

18

26

17

11

13

28

14

26

38

19

18

15
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19

26

24
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CO4

K5

19b.

Determine which of the following two-person zero-sum games are
strictly and fair.

Player

B B
a) Player [5 0] b) Player [0 2
A 0 2 A -1 4

Player

(OR)
Solve the following 2 x 2 game graphically.
Player B
B: B2 B3z Bsg
[2 1 0 —2]
1 0 3 2

Player A Aq
Az




CO5 | K5 | 20a. Activity A|B|C|D|E|F| G H
Immediate Predecessor - - -|A|B|C|DE|FG
to |1 |1 |21 ]2 ]2 3 1
Estimated duration (days) | tm | 1 | 4 | 2 | 1 | 5| 5 9 2
tp | 71718114 8] 15| 3
Draw the PERT network and find out the expected project completion
time.
(OR)
COS | K5 | 20b. | Explain Critical Path Method.




